OATUSA

FIXING 5YSTEM

CATALOGUE 2024




FIXING S5YSTEM

LIGHT DUTY PIPE CLAMPS

M6 PIPE CLAMP M6 PIPE CLAMP
WHITH SCREW

@ mm. 2 ) CODE @ mm. o | CODE
12 1/4" 1.000 100 RFSM0012 12 1/4" 1.000 100 RFSMTO012
15 - 1.000 100 RFSM0015 15 - 1.000 100 RFSMTO15
16 - 1.000 100 RFSM0016 18 3/8” 1.000 100 RFSMT018
18 3/8" 1.000 100 RFSM0018 20 - 1.000 100 RFSMT020
20 - 1.000 100 RFSM0020 22 1/2" 1.000 100 RFSMT022
22 1/2" 1.000 100 RFSM0022 24 - 1.000 100 RFSMT024
26 3/4" 1.000 100 RFSM0026 26 3/4” 1.000 100 RFSMT026
28 - 1.000 100 RFSM0028 28 - 1.000 100 RFSMT028
32 1" 500 50 RFSM0032 32 1" 500 50 RFSMT032
35 - 500 50 RFSM0035 35 - 500 50 RFMSTO035
40 - 500 50 RFSM0040 40 - 500 50 RFSMT040
42 11/4” 500 50 RFSM0042 42 11/4" 500 50 RFSMT042
50 - 500 50 RFSM0050 50 - 500 50 RFSMT050
63 - 250 50 RFSMO0063

M6 DOUBLE PIPE M6 BLACK PIPE CLAMP
CLAMP WITH SCREW

9 mm. g i CODE 9 mm. 2] fi CODE
12 1/8" 500 50 RFDMO0012 15 3/8" 1.000 100 RFSRNO15

14-15 1/4" 500 50 RFDMO0014 18 - 1.000 100 RFSRNO18
18 3/8" 500 50 RFDMO0018 22 - 1.000 100 RFSRN022
22 1/2" 500 50 RFDMO0022 28 3/4" 1.000 100 RFSRN028
28 3/4” 500 50 RFDMO0028 (1)

M6 DOUBLE PIPE CLAMP
WHITH SCREW

9 mm. o i’i CODE
12 1/8" 500 50 RFDMTO012
14 1/4" 500 50 RFDMTO014
18 3/8" 500 50 RFDMTO018
22 1/2" 500 50 RFDMT022
28 3/4" 500 50 RFDMTO028

(1) Available while stocks last

2



Mé PIPE CLAMP
WITH RUBBER

I mm. %] fﬁ CODE
12 1/4” 1.000 100 RFSGO0012
14-15 - 1.000 100 RFSG0014
18 - 1.000 100 RFSG0018
20 1/2” 1.000 100 RFSG0020
22 - 1.000 100 RFSG0022
26 3/4" 500 100 RFSG0026
28 - 500 100 RFSG0028
32 1” 500 50 RFSG0032
35 - 500 50 RFSGO0035
42 11/4" 500 50 RFSG0042
CONDUIT CLIP
D mm. 7] i’i CODE

8 - 2.000 100 RFGA0008
10 1/8" 2.000 100 RFGAO0010
12 1/4" 2.000 100 RFGAO0012
15 - 2.000 100 RFGAO0015
16 3/8" 1.000 100 RFGAO0016
18 - 1.000 100 RFGAO0018
20 1/2" 1.000 100 RFGA0020
22 - 1.000 100 RFGA0022
26 3/4" 1.000 100 RFGA0026
32 1” 1.000 100 RFGA0032
40 - 500 50 RFGA0040

HOSE CLAMP
g mm. (7] fﬁ CODE
10 10-16 1.000 100 RFSFO010
12 12-20 1.000 100 RFSF0012
15 16-25 1.000 100 RFSFO015
20 20-32 1.000 100 RFSF0020
25 25-40 500 100 RFSF0025
32 32-50 500 100 RFSF0032
40 40-60 500 50 RFSF0040
50 50-70 250 50 RFSFO0050
60 60-80 250 50 RFSF0060
70 70-90 250 50 RFSF0070
80 80-100 250 25 RFSFO0080
920 90-110 125 25 RFSF0090
100 100-120 125 25 RFSFO100
120 120-140 50 25 RFSF0120
140 140-160 50 25 RFSFO140
BRIDGE CONDUIT CLIP )
9 mm. 7] i’i CODE
8 - 2.000 100 RFGAP008
10 1/8" 2.000 100 RFGAPO10
12 1/4"” 2.000 100 RFGAPO12
15 - 1.000 100 RFGAPO15
16 3/8" 1.000 100 RFGAPO16
18 - 1.000 100 RFGAPO18
20 1/2" 1.000 100 RFGAP020
22 - 1.000 100 RFGAP022
24 - 1.000 100 RFGAP024
26 3/4" 1.000 100 RFGAPO026
30 - 500 50 RFGAP030
32 1” 500 50 RFGAP032
40 - 500 50 RFGAP040



http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFSF_EN.pdf

FIXING S5YSTEM

HEAVY DUTY PIPE CLAMPS

M8 OPEN PIPE M8 OPEN PIPE CLAMP
CLAMP WITH RUBBER

%] mm. 2 | CODE %] mm. 2 | CODE
22 | 2024 172" | 500 100 RFRM0022 15 | 1216 1/4” | 500 50 | RFRGOO1S
28 | 2528 314" [ 250 50 RFRM0028 18 | 1719 3/8” | 250 50 | RFRGOO18
35 | 3236 B 250 50 RFRM0035 22 | 20-24 122|250 50 | RFRG0022
42 | 4043 11/4 | 250 25 RFRM0042 28 | 2528 3/4 | 250 25 | RFRG0028
48 | 4750 | 1127 [250 25 RFRM0048 35 | 3236 1 250 25 | RFRGO035
54 | 50-54 : 250 25 RFRM0054 42 | 4043 11/4- | 125 25 | RFRGO042
60 | 59-63 2 125 25 RFRM0060 48 | 4750 | 11/22 |100 20 | RFRGO048
75 | 7580 | 21/2" |100 20 RFRM0075 54 | 5054 - 100 20 | RFRG0054
90 | 8792 3 90 18 RFRM0090 60 | 59-63 2" 100 20 | RFRG0060
110 | 107-112 : 30 15 RFRMO110 75 | 7580 | 21/2" | 40 20 | RFRGOO7S
115 | 113118 4 30 15 RFRMO115 90 | 8792 3" 40 20 | RFRG0090
125 | 125130 : 30 15 RFRMO125 110 | 107-112 : 25 - | RFRGO110
115 | 113118 4 20 - | RFRGO11S
125 | 125-130 : 20 - | RFRGO125

M8/M10 PIPE CLAMP WITH
( M8/M10 PIPE CLAMP ( RUBBER

%] mm. 2 ] CODE 2] mm. 2 | CODE
22 | 2025 12" [ 500 50 RFRMD022 18 | 1519 3/8” | 250 50 | RFRGDO18
28 | 2630 314" | 500 50 RFRMD028 22 | 2025 127|250 50 | RFRGD022
35 | 3236 1" 250 50 RFRMDO35 28 | 2630 3/4” | 250 25 | RFRGDO28
40 | 3843 11/4” | 250 25 RFRMD040 35 | 3236 1 250 25 | RFRGDO35
48 | 4751 11/22 | 250 25 RFRMD048 40 | 3843 11/4- | 125 25 | RFRGDO040
54 | 5356 - 125 25 RFRMDO54 48 | 47-51 112 {100 20 | RFRGD048
60 | 60-64 2 125 25 RFRMD060 54 | 53-56 : 100 20 | RFRGDO54
75 | 7580 | 212" [100 20 RFRMDO75 60 | 60-64 2’ 100 20 | RFRGDO60
90 | 8792 3 80 16 RFRMD090 75 | 7580 | 21/27 | 50 25 | RFRGDO75
110 | 107-112 - 50 10 RFRMD110 90 | 8792 3 40 20 | RFRGD090
115 | 113-118 4 25 - RFRMD115 110 | 107112 : 25 - | RFRGD110
125 | 125130 - 25 - RFRMD125 15 [ 113118 4 20 - | RFRGDI1I5
140 | 138-142 5" 25 - RFRMD140 125 | 125130 : 20 - | RFRGD125
160 | 159-166 6" 25 - RFRMD160 140 | 138142 5" 15 - | RFRGDI40
200 | 200-212 - 25 - RFRMD200 160 | 159-166 6" 15 - | RFRGDI60
250 | 249-254 : 20 - RFRMD250 200 | 200-212 : 20 - | RFRGD200
315 | 312-318 : 20 - RFRMD315 250 | 248-252 : 15 - | RFRGD250



http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFRMD_EN.pdf
http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFRGD_EN.pdf
http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFRM0_EN.pdf
http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFRG0_EN.pdf

M8/M10 PIPE CLAMP

“PREMIUM"”

)

1%} mm.  BOLT nE CODE
3/8" 1618 | M8 |150 2 RAF35102
172" 2022 | M8 |150 2 RAF35103
3/4" 2528 | M8 | 150 2 RAF35104

1" 3134 | M8 |150 2 RAF35105
114" | 39-43 | ™8 [100 2 RAF35106
11/2"  |45485| M8 | 100 2 RAF35107

2" 58-61 M8 | 100 2 RAF35108

21/2" |73-765| ™10 |80 2 RAF3510A

3" 86-89 | M10 | 60 2 RAF3510B

4 110-115| ™10 | 40 2 RAF3510C
M8/M10 PIPE CLAMP
“PREMIUM” WITH RUBBER

o mm.  BOLT gl CODE
3/8" 1719 | ™8 |[100 2 RAF351G2
172" 2123 | M8 |100 2 RAF351G3
3/4”  |265-28] M8 | 100 2 RAF351G4

1" 3335 | M8 |80 2 RAF351G5
114" | 4245 | M8 | 60 2 RAF351G6
11/2" | 4850 | M8 | 60 2 RAF351G7

2" 60-64 | M8 | 40 2 RAF351G8

21727 | 7380 | Mi10 | 40 2 RAF351GA

3" 87-91 | M10 | 40 2 RAF351GB

4 108-116] M10 | 20 2 RAF351GC

(

WITH PLUG AND SCREW

M8/M10 PIPE CLAMP ”PREMIUMﬁ

nE CODE
3/8” | 16-18 | M8x100 | 10x50 | 150 2 | RAF35502
172" | 20-22 | M8x100 | 10x50 | 150 2 | RAF35503
3/4” | 25-28 | M8x100 | 10x50 | 150 2 | RAF35504
17| 3134 | M8x100 | 10x50 | 100 2 | RAF35505
11/4" | 39-43 | M8x100 | 10x50 | 100 2 | RAF35506
11/2" |45-48.5| M8x100 | 10x50 | 100 2 | RAF35507
2" | 58-61 | M8x100 | 10x50 | 100 2 | RAF35508
21/2" | 73-76.5| M10x120 | 12x60 | 80 2 | RAF3550A
37 | 86:89 | M10x120 | 12x60 | 60 2 | RAF35508
4 [110-115| M10x120 | 12x60 | 40 2 | RAF3s50C

(

M8/M10 PIPE CLAMP “PREMIUM”
WITH RUBBER, PLUG AND SCREW

. mm.  BOLT CHEV. il CODE

3/8” | 17-19 | M8x100 [10x50 | 100 2 | RAF355G2
1727 | 21-23 | M8x100 | 10x50 | 100 2 | RAF355G3
3/4" |26.5-28| M8x100 | 10x50 | 80 2 | RAF355G4
17 | 3335 | M8x100 | 10x50 | 80 2 | RAF355GS
11/4" | 42-45 | M8x100 | 10x50 | 60 2 | RAF355G6
11/2" | 4850 | M8x100 | 10x50 | 60 2 | RAF355G7
2" | 60-64 | M8x100 | 10x50 | 40 2 | RAF355G8
21/2" | 71-80 | M10x120 | 12x60 | 30 2 | RAF355GA
37 | 8791 | M10x120 | 12x60 | 30 2 | RAF355GB
47 [108-116| M10x120 | 12x60 | 20 2 | RAF355GC




FIXING S5YSTEM

( “EXTRA” CLAMP ( SPRINKLER PIPE CLAMP )
= =
7] mm. BOLT ] CODE 2 o BOLT n CODE
17 | 1719 M5 1.000 100 RFS00017 35 1 M8 200 100 | RFP00035
20 20-22 M5 1.000 100 RFS00020 40 1174 M8 100 50 RFP00040
23 | 23.25 M5 500 100 RFS00023 48 11/2" M8 100 50 RFP00048
25 25-27 M5 500 100 RFS00025 60 2" M8 80 40 RFP00060
26 26-28 M5 500 100 RFS00026 75 21/2" M10 60 30 RFP00075
29 | 29-31 M6 250 50 RFS00029 90 3" M10 40 20 RFP00090
32 32-35 M6 250 50 RFS00032 15 4" M10 20 10 RFP0OT15
36 36-39 M6 250 50 RFS00036
40 | 40-43 M6 250 50 RFS00040
44 | 44-47 M6 125 25 RFS00044
48 48-51 M6 125 25 RFS00048 M8/M10 YELLOW
52 52-55 M6 125 25 RFS00052 PIPE CLAMP “GAS”
56 | 56-59 M6 100 20 RFS00056
60 | 60-63 M6 100 20 RFS00060
64 | 64-67 M8 100 20 RFS00064 —_—
68 | 68-73 M8 75 15 RFS00068 2 0. FLETA. CODE
74 74-79 M8 75 15 RFS00074 22 20-24 1/2" M8 500 100 | RFRR0022
80 80-85 M8 75 15 RFS00080 28 26-30 3/4"” M8 500 50 RFRR0028
86 | 86-91 M8 50 10 RFS00086 35 | 32-36 17 M8 | 250 50 | RFRR0035
92 92-97 M8 50 10 RFS00092 40 38-42 11/4" M8 250 25 RFRR0040
98 98-103 M8 50 - RFS00098 48 47-50 [ 11/2" M8 250 25 RFRR0048
104 | 104-112 M8 40 - RFS00104 60 | 60-64 2" M8 | 125 25 | RFRR0O060
113 | 113121 M8 25 R RFS00113 75 | 75-80 | 21/2 | m10 |[100 20 | RFRROO75
122 | 122-130 M8 25 R RFS00122 90 | 8290 37 M10 | 90 18 | RFRR0090
131 131-139 M10 25 - RFS00131 1151114119 4" M10 30 15 RFRRO115
140 | 140-148 | M10 25 - RFS00140
149 | 149-161 M10 20 - RFS00149
162 | 162-174 | M10 20 - RFS00162
201 | 201-213 [ ™mi10 14 - RFS00201
214 | 214226 | ™10 14 - RFS00214 _—
240 | 240-252 | w10 12 - RFS00240 ( U” BOLT
—
Tl?be Q. FILETA. <] CODE
( M8 DRAIN PIPE CLAMP ) 17,1 3/8" M6 1200 200 | RFAB0002
21,3 1/2" M6 1200 200 | RFAB0003
26,9 3/4” M6 900 150 | RFAB0004
33,7 1" M6 750 125 | RFAB0005
424 | 11/4" M6 600 100 | RFAB0006
(%) mm. fﬁ CODE 483 | 11/2" M8 300 50 | RFAB0007
75 75-80 200 20 RFDES075 60,3 2 ” M8 300 50 | RFAB0003
% £2.90 100 2 RFDES090 76,1 21 {12 M8 150 25 | RFABOOOA
110 106-112 100 20 RFDES110 88,9 3 — M8 125 25 | RFABOOOB
125 124130 s TS RFDES125 101,6 | 3 1{’2 M10 120 20 | RFAB00OC
160 159-165 64 32 RFDES160 14,3 4 M10 10020 | RFABOOOD
200 199212 50 25 RFDES200 139,7 S M10 100 20 | RFABOOOE
168,3 6" M10 75 15 | RFABOOOF
219,1 8" M10 50 10 | RFABOOOH
273,0 10" M10 10 - RFAB00O)
323,9 12" M14 10 - RFABOOOL
p 355,6 14" M14 10 - RFABOOON


http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFRR_EN.pdf
http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFS0_EN.pdf
http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFAB_EN.pdf

SANITARY FIXINGS

(

FIXING KIT FOR WASHBASIN

FIX. KIT FOR WALL SANITARIES )

(2 pieces) (2 pieces)
BOLT  CHEVILLE i’ﬁ CODE BOLT  CHEVILLE i” CODE
M8x110 10x50 150 15 RFFLO811 M8x110 10x50 150 15 RFFPO811
M10x120 | 12x60 150 15 RFFL1012 M10x120 | 12x60 150 15 RFFP1012
IT FIX. FOR WC AND BIDET .
K . X. FOR WC FIX. KIT FOR BOILERS (2 pieces)
(2 pieces)
BOLT PLUG fﬁ CODE BOLT PLUG fﬁ CODE
INOX. | M5x75 | 8x40 [ 250 25 RFFWI575 M8x65 10x50 250 25 RFFC0865
LAITON | M5x75 | 8x40 [ 250 25 RFFWL575 M10x75 12x60 250 25 RFFC1075
ANCHORS, PLUGS, SCREWS AND ACCESORIES
M8/M10 DOUBLE THREAD Mé6/M8 SHOULDER
SCREW SCREW
M8 or M10 double thread screw.
FILETA. mm. fﬁ CODE FILETA. mm. fﬁ CODE
M8 50 1.000 100 RFTD0850 M6 30 2.000 100 RFTR0630
M8 80 1.000 100 RFTDO0880 M6 40 2.000 100 RFTR0640
M8 100 600 100 RFTD8100 M6 50 2.000 100 RFTR0650
M8 120 600 100 RFTD8120 M8 40 2.000 100 RFTR0840
M10 80 1.000 100 RFTD1080 M8 60 2.000 100 RFTR0860
M10 100 1.000 100 RFTD1010
( ROUND CONNECTING NUT ) ( HEXAGONAL CONNECTING NU'I)
FILETA.  LENGTH ae CODE FILETA.  LENGTH | CODE
M6 20 1.500 150 RFMR0620 M6 20 1.500 150 | RFMH0620
M6 30 1.500 150 RFMR0630 M6 30 1.500 150 | RFMHO0630
M8 20 1.000 100 RFMR0820 M8 20 1.000 100 | RFMHO0820
M8 30 1.000 100 RFMR0830 M8 30 1.000 100 | RFMHO0830
M10 30 500 50 RFMR1030
( FIXING PLUGS ( PERFORATED BANDING )
—— ——=
o 7] CODE LENGTH ~ BANDEmm. gl CODE
M6x30 100 RFTN0630 M6x30 10 m. 17x0.8 10 | RFCP0017
M8x40 100 RFTN0840
M10x50 50 RFTN1050
M12x60 25 RFTN1260 7



http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFTR_EN.pdf
http://d7rh5s3nxmpy4.cloudfront.net/CMP6575/files/ATUSA_DS_FS-RFTD_EN.pdf

Www.afusagroup.com

ATUSA

ATUSA GRUPO EMPRESARIAL S.A.
Poligono Industrial ATUSA - Agurain
01200 SALVATIERRA - Alava - ESPANA
Tel. +34 945180000
export@atusagroup.com
www.atusagroup.com



